Efficiency vs dr

x 0.05
g
£.045
20.04
c
Q o
®.035F -+
= [
©0.03f- -
0.025f
0.02f -+
0.015f -+
0.0%f+-

0.005F--+ ]
bl 4
o +W I 1
= —=— DQM_VOUOT_] _Global_CMSSW_X_Y_Z__allNODNNZ
© —e— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_all2
@ —_— B M_V0001_R000000001 Global _CMSSW_X_Y_Z_all75
- l==

M~_V0001_R000000001__Global_CMSSW_X"Y_Zall7

107 1072 1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001

[y

107 1072 107t
AR(TP, jet)

Efficiency vs pu

5 0.0%, : . : ;
3 R
e A A S A

B.00BE- -+ eeee e R RS
@ E : : : : :

L e L
= E . : . . :

R S S S S
R S
R S

0.003[----++5-errdeeieeeeenns PR N R SR
0.002 : : :

oo g |

L

Ratio

o
w
o
N
o
O
o
[
o
~
o
[e'e]
o

0.95
2



	Contents
	Page 1


